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(BAL: m) (BREEXR)

BT A £ X ) FERISEE FERIAEE TRHRISEE FRI6EE TERITERE
= T & 33,178 35, 622 35, 622
19. 5mil £ 26 26 26
13. OmL £ 69 69 69
& % a 5.5ml Lt 9,142 9,534 9,534
= 5. bmFK i 23,634 25, 862 25, 862
B T # 7l 5.5mil E 4 4 4
XHEER 3. 5mLl £ 10 2 2
3. SmK i 293 125 125
% m *%ﬁ%ﬁ 423 95 55
] 37,755 35, 567 35, 567
3.5mMKFEHD > b BENER B AE 22 22 22
= T & 780, 648 780, 648
19.5mLl £ 865 865
13. 0mEL £ 6, 683 6, 683
2 % B 5. 5ml Lt 224, 825 224, 825
= 5. bmFK i 411, 361 411, 361
Skt A 5.5mll E 122 122
XH®EBE 3.5mlL E 6, 008 6, 008
3. SmK i 130, 184 130, 184
% g *%ﬁ%:ﬁ 59, 440 59, 440
8HEE 121, 208 121, 208
3.5mMKED > b BENER BEBAAE 35,514 35,514
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